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1) 1.1) What is the type of each cam ?

(b).
(c)
(d)

(a) (b) (c)

1.2) Which cam has translating follower ?

1.3) Which one is oscillating follower ?

1.4) Which cam and follower has sliding contact ?

1.5) All the cams above are (form-closed / force-closed)

1.6) All the cams above are (form-closed / force-closed)

Page 2 of 8



Student ID # :

Name :

1.7) Name the type of the following gears.
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2) The ring gear 2 of the planetary gear train is rotating at 200 rpm counterclockwise as viewe | from the
right, and the planet carrier 3 is rotating at 100 rpm clockwise. Determine the angular velo ity of the
output shaft 8 as viewed from the right. The number of teeth of each gear is as follows; N, =30, N, =
20 ,N,=15,N, =18, N, =27, and N, = 108.
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3) In the mechanism shown, if load P acting on link 4 is 40 N, determine the force Q to keep the
mechanism in static equilibrium at this position, using graphic method. Also draw the free body diagrams

of links 2, 3, and 4. The friction between links 1 and 4 is negligible.
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4) The mechanism consists of link ABC and 2 light weight frictionless pins at A and B. Point A is mcving
at constant speed 30 mm/s to the right. The velocity and acceleration analysis diagrams are give as
shown. If the centroid of link ABC is at B with mass of 2 kg, and I, = 3000 kg.mm®. Determine the
force P acting perpendicular to link ABC at C.
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5) Weights of 1 kg, 2 kg, and 1.5 kg are located at radii 0.5 m, 0.8 m, and 0.3 m in the planes C, D, and
E, respectively, on a shaft supported at the bearings B and F, as shown. If we have two corre: tion
masses of 0.5 kg each, find the radius and angular focations to be placed in the end planes A : nd G so

that the dynamic load on the bearings will be zero.
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